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Test Coverage

size of executed program with test suite
size of program to be tested

Inction foo(a,b) {

test suite (a,b)
{(1,1)}:

decision Coverage—50%

b>0) return 1,

se return O;
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Staged Language

tion foo(a,b) {

X = “if("+a+">0) return 3;” + “else
rn4;”;

(a, b)={(0,0), (0,1

2 100%

>0) return eval(x);

 return O;
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Staged Language

tion foo(a,b) {
>0 && a>0) return 3;
 if (b>0) return 4;

 return O;

(a, b)={(0,0), (0,1)}
P 2/3 =67%
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Test Coverage on Two-Staged Language

~ humber of branches tested with test suite (#B1)

number of branches generated in run time (#Be)
+ number of other branches (#B.)
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J). }

= ifi then T (f1 Av.v) else 2 (2 Av.v)in | yn _ _
= if i then 3 (f1 Av.v) else 4 (2 Av.v)in | Be = GXS i
- if i then 5 (f1 Av.v) else 6 (f2 Av.v)in | #De =2X8=
= if i then ‘7 (f1 Av.v) else ‘@ (f2 Av.v) in

N . s ->9[a,b] | 10]
n 9 (if i then ,a x else ,b y) L a>12,b->3
i c->39|6,d->7

n 19 (if i then z else w)
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NDC

3t Suite Test Value DC
I A {(0,0), (0,1)} 0.6 0.23
B {(0,0), (0,1), (1,0)} 1.0 0.75
{(0,0), (0,1), (1,0), (1,1)} 1.0

C

0.88




Future Work

® Decision Coverage ==> MC/DC ...

® Test Case Generation for 2-Staged
Language



